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Alternative Collinear Theorem named as Rose-Dia
Hirotaka Ebisui
MBI ¥ —  ebisuihirotaka@io.ocn.ne.jp

This Theorem is inscribed in a circle and has a rose Theorem (Fig 1 is Basic Red Rose
Theorem) structure on two quadrilateral interpolated quadrilaterals on the diamond structue (Fig2
is one of Diamond Theorem) with four intersecting points. It is a theorem that the two
intersection points are collinear with diagonal points of a perfect quadrangle of the bae
quadrilateral. Fig 3. is an example of odd-even alternation theorem, and the rose stamen small
square does not appear in the second,fourth,and sixth stages. Fig.4 shows the theorem of the
interpolation or extrapolation structure where infinite alternation occurs inthe same structure with
diffirent levels.

Keywords: Collinear Theorem,Alternative infinity chain,Rosetheorem,Diamond Sturucture

Red Rose Theoren (vith Tvo Collinear Lines)
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Fig 1. Red Rose Theorem

Diamond Theorem
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Fig 2 Diamon Theorem Fig 3 Rose-Dia Theorem
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BGT="11-11 (05:28:24 AM)", HIC=[35], HEBB=[8,1,1,9]
X=5in(248 ¢) cos(279 t) + 8 sin(248 ¢) cos(279 ) cos(lan[cos( PR ))]

Y=cos(248 1) cos(279 1) + 8 cos(248 1) cos(279 1) cos(tan(cos[ ! j ) ]

(=0.2m st~ Tlo ] IS

Pachikuri {5 1E by H.E

BGT="11-11 (05:28:24 AM)", HID = [36], HEBB=[8, 1, 1,9]
X=sin(248 t) cos(279 t) + 8 cos(279 t)Z sin (248 ¢) cos(lan(cos( PR ] ) ]

Y=cos(248 1) cos(279 ¢) + 8 cos(279 r)zcos(248 ) cos{tzm(cos[ ! ] ) ]

=0.2m, ”:Tlo | iR

BGT="11-11(05:28:25 AM)", HIA=[37], HEBB=[8, 1, 1, 10]

X=sin(248 1) + 8 sin(248 1) cos(310 ¢) cos(tan(cos{ ﬁ ] ) )

Y=cos(248 1) + 8 cos(248 1) cos(310 1) cos[tan(cos[ﬁ ] ) ]

(=0.2m st~ Tlo ] IS

BGT="11-11 (05:28:26 AM)", HIC=[39], HEBB=[8, 1, 1, 10]
X=s5in(248 ¢) cos(310 7) + 8 sin(248 ¢) cos(310 1) cos(lan[cos( . +t I ))]

Y=cos(248 ) cos(3107) + 8 cos(248 ¢) cos(310 1) cos(tan(cos[ L j ) ]

(=0.2m st~ Tlo ] IS
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# ZETA( % + ZeTaOee- | ) <10 8byHE

- 13472 13473 1
forh from — o~ to o 100 dofore from 14+ = 55000 24 * 200000 *Y 100000000

1
doZ: —evalf[( Re(¢(h+e-1))° +Im(L(h +e1) ) ,10) :ifz <1078
then print(ZeTa01[h + {evalf (e, 10) }-1]1=2Z) fi:od:od:

ZeTa0l =0.307494803 10°°
5 +1{14.13472513}

ZeTa0l, = 1375890479 10°°
5 +1{14.13472514}
ZeTa01, = 6.555713859 10°° 1)
E +1{14.13472515}
50 . 50 22039 22040 1
for h f S Goforefrom 21 + —22939 4491
orhfrom - a5 10 g doforefrom 2l + 5555000 ©2% * 1000000 ©¥ 100000000

1
2

doZ = evalf { (Re(g(h +e-1)° +Im(¢(h+e1))°) ~,10) ifz <1078

then print(ZeTa02[h + {evalf (e, 10) }-11=2) fi:od:od:

ZeTa02, =0.971846748 10°
5 +1{21.02203963)

ZeTa02, = 1.396544325 10°° )

5 +1{21.02203964}



| > # SE4e%6, 28, . . . by HE 2019—11—6:

1
> ¢ = 0 :for n from 2 to 10000000 dos := 1 :for x from 2 to ﬂoor(evalf(n 2 ) ) doifn
mod x =0 then s := s +x + ~~fi: od:if s mod n =0 then if - = | then print( ) :
X n

print( 22, H=n, F92CDFll = s[ifactor(s) ]) else print( ) :print( { % } %%, H=n,

FIZLD F1 = s[ifactor(s) ] ) fi:fi:od:
SERIL, H=6, fIHDFI=6y 3
SERH, H=28, /%?sl*a’?@fp‘ﬂ=28(2)2(7)
2Y 55, H= 120, #92D Fl =240
(2} 5K H 243) (5)
SEE, H=496, %@éﬁ?@fﬂ=496(2) 4
2V 75, H= 672, #9£cDFl = 1344
(2} 2 FIEL DT 256 (7
SERH, H=28128, %@iﬁ?@fkglzg(

2)6(127)

3} f##, H=30240, #9£D F11=90720
B 2)3(3)4(5) (7)

(3} 174, H=32760, #92 DFil = 98280 13 53

(5) (7) (13)
] (2) 4L H= 523776, ABORI=1047552 g oo )
[ h ] —1
> for 4 from 2 to 10000 do if isprime( h—1 j then print(m =prime(H+E[h]) j
fi:od:
2
217 —1 :
[[2]]—_1 =przme(H°E2)
3P —-1
[[3]]—_1 =przme(H°E3)
(191" —1 |
[19]—_1 —pl’lme(H'Elg,)
B =1
311 Prime(HEs)
754717 -1 .
ST Pl B @




| > #x*+)* +2=2019byH-E2019 — 11 — 5 :

+zp[, =2019, , . No(c)) fiod:od:od:
1> +13% +43% =2019,

5% 4+25° +37° =2019,

70 + 117 +43° =2019,

70 +17° +417 =2019,

11 +23* +377 =2019,

213° +41° =2019, .

13 425> +357 =2019,

17 4+19° +37° =2019,

- No
o

223% +31° =2019, . .

> ¢ :=0:forxfrom I to200 doxp := x :for y from x to 200 do yp := y : for z from y to 200
do zp :==z:if po +yp2 +zp2=2019 thenc = c + 1 : print( xp[. ]2 +plo ]2

o o No(l)
o o No(2)
o o No(3)
o o No(4)

No
(6

(5)
)

No(7)
(8
)

o o

o

No(8)
No (9

o o

0y



[ > # P psum=P by H.E 2019-11-1:

> ¢ = 0 :for /& from 1 to 100 do Hp := 0 :for e from 4 to 1 + ithprime(h) — 1 do Hp := Hp
+ ithprime(e) :od:if isprime(Hp) then c := c + 1 : print(ithprime(h)[ {h} th p kara],

ithprime(h + ithprime(h) — 1) [ {h + ithprime(h) — 1} th p made],
ithprime(h) ko primesum = Hp|[ prime[ No[c]]]) fi :od:

2{ 1} th p kara 3{2} th p made® 2 ko priumesun = SprimeN
0

5{3} th p kara 17{7} th p made’ 5 ko primesum - 53primeN
0
2

11{5} th p kara 47{15} th p made® 11 koprimesum - 311primeN
0

19{8} th p kara 101 {26} th p made> 19 koprimesum =1 103prime

o

29{10} th pkara 163{38} th p made 29 ko primesum =2647

prime

No
31{11} th pkara 179{41} h p made’ 31 ko primesum :3137primeNo
67{ 19} th p kare> 439{85} th p made’ 67 ko primesum = 16339pn.meN0
7
107{28} th pkara 757{ 134} th p made 107 ko primesum = 44927pn.meN0
109{29} h p kara 773{137} th p made 109 ko primesum =47123p”.meN0
131{32} h p kara 953{162} th p made 131 ko primesum = 68521pn.meN0
10
211{47} th pkara 1621{257} th p made 211 ko primesum = 189149pn.meN0
11
277{59} h p kara 2251{335} th p made’ 277 ko primesum = 337871prime )
12
367{73} h p kara 3067{439} th p made 367 ko primesum = 609533pn.me )
13
383{76} h p kara’ 3251{458} th p made 383 ko primesum = 668539primeN0
14
503{96} h p kara 4391 (598} th p made’ 503 ko primesum =1 192753p”.meN0
15

0y



| > #P1-P2+PI1+P2=Prime by HE

> ¢ = 0 :for i from 1 to 1000 do P3 := ithprime(h) + ithprime(h + 1) + ithprime(h)
-ithprime(h + 1) :if isprime(P3) thenc :=c + 1 :if c < 100
then print( [ithprime(h)[{h} thp], ithprime(h + 1), P3[c]]) fi fi:od:

[2(1y thp 3> 11 ]
[3(2) i 3> 23]
]

[SGymp 75475
(115 g0 13, 167,
1

|

[13 (6 s 17 2515]

(172, 1 19:359]

(19,5, 4 23,479,

[23 0y 1 29: 719%]
[41(13) 1 43 1847,]
[43 14y 1 47: 2111 ]
[47 15y g 5352591
(5917 s 61,3719,
(792} 14 83: 67195
[83 23 g1 89 7559
89,24y 14 » 97 8819
1016, 4, 103, 10607, ¢
10959, 1,» 113, 12539
11330, 4, 127, 14591 g
137 33 e 139 19319,
163 35, 1 ,» 167, 27551

[ ]
[ ]
[ ]
[ ]
[ ]
[167 39, 1, 173, 29231, ]
[ ]
[ ]
[ ]
[ ]
[ ]

14]
I5]

17340y e 179, 31319,
223 4y g 227, 51071,
229,50, 1 233, 53819,
257, 55, e 263, 68111,
311 g4y gy 313, 97967,
38376 g1 389, 149759,,]
389,72 g 397, 155219,]
[409 501 1> 419, 172199,,]
[419 1, gy 421, 177239]
43955, 1 443, 195359, ]
[443 561 1, 449, 1997995, ]
[479 03, gy 487 234239,
[ |

521 g5, gy 523, 2735275,



[547 101} 1 557- 305783 5]
1557 102y 4 563: 31471154
[577 106) np» 587 339863,
[593 108y 14 599: 356399 ]
(613113 4 617, 379451 5]
[643 (117, g 647, 417311,
[647,115) h» 653, 423791, ]
[683 124y 11 691, 473327,
[773 137, g 787, 6099115
[797, 1303 14 809: 646379,4]
[809, 140y 4 811, 6577195]
[811 141y gy 821, 667463 4]
[853 147, 1 857: 732731,
19531623 1hr 967: 923471 5]
[983 166) 1 991, 976127 9]
(101917, 5, ,» 1021, 10424395
[1049 76, 4 ,» 1051, 1104599, |
[1097 154y 1 1103, 1212191 ,]
(110954, 1117, 12409795 ]
[1151 190y g 1153, 1329407,
[1171 103y 1, 1181, 1385303]
[1223 500, g1 1229, 15055194 ]
[1229 501, 4 1231, 1515359, ]
[1319 515, 1, 1321, 17450394,
[1373 350, g1 1381, 18988674
[1399 550, 1 1409, 19739991
[1427 505, 1 1429, 2042039 ]
[1471 553 g 1481, 2181503, ]
[1511 540, g 152323042875 ]
[1523 541y 1, 1531, 2334767,]
[1579 340, g1 1583, 2502719]
[1627 555, 1 1637, 2666663 ]
[1663 561, 1,» 1667, 2775551 ;]
[1693 56 1 1697, 28764114]
[1699 556, 1 1709, 29069995
[1709 567, 1 1721, 29446191



[1913 503, 4 » 1931,3697847,, ]
[1951 597, 4 » 1973,3853247.,,]
[1979 500, 1> 1987, 3936239,
[1999 303, 41 » 2003, 4007999,
[2017 306, 5 p» 2027, 4092503,
[2111 315 1 2113, 4464767,]
[2153 35, 1 2161, 4656947, ]
2207 330, 1 ,» 2213, 4888511
[2213 330, 1 2221, 4919507, ]
[2237 333, 1 2239, 5013119
2267 336, 5, 2269, 5148359
[2297 343, 1 2309, 5308379, ]
[2389 355, g1 2393, 5721659, |
2393 356, g1 2399, 5745599, |
[2417 350, 1 2423, 586123 14]
[2477 367y i pr 2503, 6204911 (]
[2539 371, g » 2543, 6461759, |
[2557 375, i pr 2579, 65996394 ]
[2609 379, ,» 2617, 6832979, ]
[2659 355, 41 » 2663, 7086239 |
[2663 356, 1 » 2671, 7118207,
[2741 40, 1 » 2749, 7540499,
[2767 403 g1 » 2777, 76895035 |
[2917 433y 1 2927, 8543903,]
[2939, 454 gy 2953, 8684759 |
[2957 436, g1 2963, 8767511
[2971 429y 1 » 2999, 8915999, ]
[3079, 440 g1 » 3083, 9498719 ]
E

311944y gy 3121, 9740639 |

[3229 457, 1 3251, 10503959, ]

0y



> c:=0:5:= 0 :for 4 from 1 to 10000 do s := s + 4" iif isprime(s) then if 7 <5 thenc := ¢

2 2 2
L+ [12000 o]+ [Blmp]” 200+ [887 154, + [907 1551, ]

> #sumx' =Primeby H-E2019 —11 —9:

h
+1 :printLZ [jY =Prime (H+E[No=c]) | else print([11' + [2T + [3T +xxx
i=1

+ [h—11"" Y4 [h1"=Prime(s)[H+ E[No=c]]) endiffi :od:
[1]+ (21 =Prime (H+Ey,_ )

[11+ 127 + [37 + [4T* + [57 =Prime (H+Ey, _,)

(114 [2F + [37 +xxx + [57 + [61° = Prime(50069) ;.
No=2
(114 [2F + [37 +xxx + [97 + [101" = Prime(10405071317) .,

No=2
[1]4 27+ [3] +xxx+[2977 + [307

= Prime(208492413443704093346554910065262730566475781 ) ;. ¢
No=2

> for e from 2 to 6 do print( ) : ¢ := 0:s:= 1 for h from 1 t0 200 do s := s + ithprime(h)®:

h

if isprime(s) then ¢ :=c+1:ifh <5 thenprint([l] + Zithprime(j) [{j}ythp]°
j=1

= Prime (s)[HoE[N():c]]J else print( 1°+ [[2][{1}thp]]e+ [[3][2 thp]]e—i-xxx

+ [ithprime(h — 1) [ (h — 1) thp11° + [ithprime( h) [ h th p]11° = Prime(s) [H + E[ No
=c]1) end if fi :od:od:

2 .
[1] +2{1}thp=PrzmeSH,E
No=1

—I—[31“thp]2=Prime(3359)H,EN 2
om

L+ [12], thp]z + [[3]2;;,17]2 +xxx + [6118thp]2 + [6719”!17]2=Prime(24967)H.EN0=3

L+ (12100 o]+ (B, +20+ [29,]

L+ [12100y iyl + Bl 20+ [10755 5,7+ [1095 T

= Prime(109937) ;. »
No=4
1+[[2] 247131, P +xc+ [151 2 41157 2
[L21ymp] T [Bhm,] Haxe+ [15l36,, [+ [ 157574, ]
= Prime(263737) ;.
No=15

L+ (0210 ]+ [l +00 4 [3592 5,7+ [36773 0]

= Prime(2841373) ;. ;
No=06

L+ (12100 mp ]+ Bl 200+ [50306 5, + [5097 41,

= Prime(7547077) ;. g
No=17

2

= Prime(37464551) ;.
No=38

0y



L+ (0210 ]+ [Bhup] 0%+ 9531600, + [967 1630,

= Prime(44505631) . .
No=9

L+ (1200 gy |+ [l ]| o0+ [10335,, T+ 103955, T

= Prime(56680003) .

No=10
L+ [12000y o]+ [ Bl 20+ [1151 500, + [1153101 1]

= Prime(75937523) ;1. &
No=11

2

V(12100 o]+ [Bh,p] +20+ [Ty, TP+ [7321 4] = Prime(2013983),,

L+ (1210 o]+ [Bl,] 20+ [997 16,1 + [1009160 41, ]

= Prime(37528375567) ;. p
No=2

L+ (0210 s+ [Blam,] 200+ [1061 56, T + 106317, T

= Prime(48720948259) ;. »
No=3

4 .
[1] +2{1} thPZPrlme 174,
No=1

P+ T2T0y iy

L+ (1200 ]+ [Blamp]t Fo00+ 18147 + 1903, ]

= Prime(9723349723) ;.
No=3

L+ (1200 ]+ [Blanp]' 00+ 349,17 + 35351,

= Prime(190977764951) ,,.
No=4

L1210y o]+ [Bh,] + 20+ [541100,,]" + 39710001, ]"

= Prime(1503145202981) ;. »
No=5

1+ [[2]{1} thp]4 + [[3]2thp]4 + o + [857148thp]4 + [859149thp]4

= Prime(14418852565829) ;. »
No=06

L+ {121, thp]“ + [[3]2””)]4 + xxx + [953162””)]4 + 967,631, ]
= Prime(24276490010083 )

4
H-E
No=17
1+[[2 03], 1 a4 [1151 Y 471153 4
+[[ ]{l}thp] +[[ ]Zthp] XXX [ 190thp] [ 191thp]
= Prime(59907449687471) ;.
No=28

L+ (12300 ]+ [Bhup] + 20+ [2900,] + [Bliimp]

' [y, ] x4 [3710,] + [4113,] = Prime(6870733)

£

No=1

-E

No=2



= Prime(60025151) . ¢
No=1
L+ (12100 o]+ (Bl +20+ [Tl ]+ [Barmp]

= Prime(7826720903) ;. »

No=2
5 5 5
L4 (1201 ]+ [B3Lam,p] 50+ [2295 5T + [23351 41, ]

= Prime(5315694312101) ;. »
No=3

5

L[ 12101y mp] + [[B3l,] 200+ [50396 4T + [509%7 41|

= Prime(503388827998099) ,;. »
No=4

L+ (12100 o]+ [Bh,] + 20+ [953165,] + [967 163015 ]

= Prime(19398671440091479) ;. »

No=5
5 5 5
1+ [[2]{1}thp] + [[3]2thp] + xxx + [997168thp] + [1009169thp]

= Prime(25056561870953887) ;. »
No=6

5 5 5
L+ (1210 g+ [Blamp] 200+ [1061 56,51 + [1063179,,,]
= Prime(37137845945657467)

5

5

H-E
No=17

L[ 12100y ol + [l 200+ [1109,g0, T+ [1117,57, T

= Prime(49794637822344073) ;. »

No=28

L+ [[2] thpf + [[3]2””,]6 + xxx + [18142””)]6 + [19143””)]6

= Prime(254637172916827) .
No=1

1 2 4113 6 199 ® 41211 6
+[[ ]{l}thp] +[[ ]Zthp] +xxx+[ 46thp] +[ 47thp]

= Prime(515121222006767) ;. &
No=2

L+ (1210 ]+ [Blam,]” o0+ [421g 1+ [431g3 ]

= Prime(64165941996249827) ,;.

No=3
6 6 6 6
1+[[2]{1}thp] +[[3]2thp] +xxx+[1021172thp] +[1031173l‘hp] @)
= Prime(26101521510851697293) ,,.
i No=4
> Ihs((2))
6 6 6 6
V(1210 mp] +[[Blam,] Fxxx+ [1021,5 ] 4 [1031,75,,] ©))

>




> #x+ (x+ 12+ (x+2)> +2=)y"byH-E 2019 — 11 — 11 :

> ¢ := 0 : for 4 from 1 to 100000 do for x from 1 to 10 do e := h*+ (h+ 1)>+ (h +2)°

1

2
+ X :ifﬂoor(evalf(e2 )) =ethenc:=c+1 :print([h]2+ [A+ 1]2+ [ A —|—2]2

1
+ [x]2= [simpllﬁ/(ez ) [No =c]) fi :od:od:
4P+ 5P+ 61+ [2F=[9 [No=1]

(18 4+ [191 + [20 + [217=[33T* [No=2]

[707 4 [7T1F + [72P + [277=[123F [No=3]
[264T° + [2651° 4 [266 1 + [21 = [459T [No =4]
[9887T + [989T° 4+ [990 > + [22=[1713]* [No=5]

[3690T + [3691T + [36927 + [21 =[6393T [No=6]
[13774 + [13775T + [13776 7 + [2 = [23859)* [No =7]
[51408 1> + [51409T* + [51410 1 + [21*=[89043 * [No =8 ]

0y



> #X =)+, 8=y +2 +wbyH-E2019 — 11 — 15
> ¢ :=0: for x from 1 to 100 do for y from 1 to 1000 do for z from y to 1000 do if x° =)”
+Zthenc = c+ 1 :print([x[o T=y[o P+z[o o P][H*E[No=c]]) fiod:od:od:
(20 =22 +22 |,
No=1
57 =22 +112 ],
No=
[5° =57 +10° ],
No=3
(87 =16 +167 |,
No=4
[10° =10* +30* [
No=5
[10° =18 +26° |, .
No=6
[13° =97 +46” |,
No=17
[13° =26" +39° [
No=28
(172 =172 +68° |, .
No=9
(170 =472 +52° |
No=10
[18° =54* +54° [
No=11
[20° =167 +88% |, .
No=12
[20° =407 +80° | .
No=13
[25° =35% +120° [
No=14
(253 =44 + 1172 ]
No=15
(253 =757 +100° .,
No=16
[26° =26" +130° [
No=17
[26° =747 +110° ]
No=18
[29° =58 +145° |
No=19
[29° =65> + 142> [
No=20
[32° =128 +128° |, .
No=21




3 A2 2
[34° =10° +198° OL+E

No=22
(347 =1022 +170" |,
No=23
[37° =37" +222 L%E%b24
(370 =1072 +1987 |,
No=25
[40° =80° +2Mf°]HfMTz6
[40° =144> +208% |, .
No=27
[41° =n1s? +2367 ],
No=28
[41° =1647 +2057 | 0
No=29
(457 =54> +297° Lﬁ%%w
[453 =1352 +270" |,
No=31
[50° =50° +350§O]H.EN:32
[50° =146 +322° |, .
No=33
[50° =1707 +3107 ],
No =34
[50° =250° +2ﬂfo]H%;o
No=35
[52° =72% +368 L*Eﬂos6
[52° =208 +3127 |,
No=37
[53° =106" +371% |, 0
No—38
[53° =259 +286° |, .
No=39
(58 =1542 +4147 |
No =40
[58° =1747 +406" |, 0
41
[61° =234" +415° Lﬁ;%
No—42
[61° =3057 +366" |,
No=43

[65° =7> +524° [
No=44



3 2 2
[657 =657 +520” ]H.E

No=45
[65° =140 +505° [
No=46
[65° =191> + 488" [
No=47
[65° =208> +481° ]H.E
No=48
[65° =2607 +4557 |,
No=49
[65° =320" +415° [
No=150
[65° =364" +377° [
No=51
[68° =136 +544° [
No=152
[68° =376" +416° [
No=153
(72} =432> +432% [
No=54
[73° =219 +584° [
No=155
[73° =296" +549° [
No=156
[74° =182" +610° ]H.E
No=57
(74 =370 +518 |,
No=158
[80° =128" +704> [
No=159
[80° =320" +640° [
No=60
820 =82% +738° ]
No=61
(827 =242° +702> ]H.E
No=062
(858 =517 +782° ]
No=63
(857 =1707 +7657 |,
No=64
(857 =210° +755° [
No=65
(857 =2852 +7307 |,
No =66
[85° =323 +714° |

HeE
No=67



(897
[90”
[90
[97]
3

97

(98

[100° =352" +936°

[100° =600 + 800

=413> +666°
=478" +621°

=510 +595°

[89° =88> +835° |

=445> +712°
=270° +810°
=486" +702°
=297" +908>
=388° +873°

= 686" + 686"

[100° =280° +960°

3

HeE
No=68

H-E
No=69

H-E
No=170

HE
No=171

£
No=172

H-E
No=173

HeE
No=174

H-E
No=175

H-E
No=176

[0 =10 +6 . +8

[24° =120 +16°  +20°

£
No=T7

HE
No=178

s
.

[> ¢:=0:forx from 1 to 100 do for y from 1 to 100 do for z from y to 100 do for w from z

to 100 do if x’ =y3 +2 +w’thenc = c+1 cprint([x[o P=y[o P+zlo o T

+w[o o o TJIH+E[No=c]]) fi:od:od:od:od:
[67 =30 +47 +5)

No=179

E
No=280

0y



+32°
> +28°
+23°
+30°
+36°
+30°
+32°

+34°

+34

+36°
+19°
+36°

+38°

o+
24
2
2T
s
o +327
. 300 ]
C+360
434
407
+33°
+35°
+41°
+40°
+377
+370 ]
+40°
+44°
+44° ]
+48°
+53°
+45°

+42°

No=9
H-E
No=10
o E
No=11
H-E
No=12
- E
No=13
H-E
No=14
H-E
No=15
- F
No=16
H-E
No=17
H-E
No=18
H-E
No=19
o E
No=20
H-E
No=21
H-E
No=22
H-E
No=23
H-E
No=24
H-E
No=25
H-E
No=26
H-E
No=27
H-E
No=28
o E
No=29
H-E
No=30

- E
No=31



[57° =9° +30° +54 |

=32
[58° =15 +42°  +49° [
No=33
[58° =22 +30°  +s54 ]
No=34
[60° =21° +42° +51° [
No=35
[60° =30° +40° +50° [
No=36
[63° =70 +42° +56° ]

HeFE
No=37

(66 =33° +44° 455 [
No=38

[67° =22° +51° 454 ]

H-E
No=39

[69° =36> +38°  +o61° ]
No=40

[703 :703 +54o3 o +57f o o ]H.E
No=41

(70 =14 +23°  +70° [
No=42

(727 =8> +48  +64” ],
No=43

(72} =34 +39° 465 [
No=44

[72° =36’ +48° +60° [
No=45

(757 =12 +51°  +e66> ]
No=46

(757 =38° +43° +66° [
No=417

(76’ =12° +40° +72° [
No=48

(76> =31 +33° 4720 ]
No=49

[78° =39° +52° 465 [
No=50
[80° =28’ +56°  +68° [
No=51
[81° =97 +54  +72° ] .
No=152
[81° =25° +48° +74 [
No=153
[823 :403 +34o3 o +80§ o o ]H.E
No=54



455

> +48

> te4
> 4607
> +53°
> 4560
> 457
> +61°

T o+54

C o445

> 443
> +31°
> 4460
> 4407
> +60°
> 4387
> 4607
> +59°
S +72
> 4607
> +54
> 4507

> 453

+66°
+69°
+75°
+70°
+63°
+64
+79°

+78

+ 81

+79°
+84°
+86°
+82°
+86°
+80°
+87°
+75°
+69°
+74
+74
+85°
+90°

+90°

H-E
No=155
H-E
No=56
H-E
No=157
H-E
No=58
H-E
No=59
H-E
No=60
H-E
No=61
H-E
No=62
H-E
No=63
H-E
No=64
H-E
No=65
H-E
No =66
H-E
No=67
H-E
No=68
H-E
No=69
H-E
No=170
H-E
No=171
H-E
No=172
H-E
No=173
H-E
No=74
H-E
No=175
H-E
No=176

H-E
No=177



[96° =48 +64°
[97° =457 +69°
[99° =117 +66°
[100° =16" +68

[100° =35 +70°

+80°
+79°

+88°

+85°

H-E
No=178

- E
No=179

H-E
No=80

3
+880 o o ]

HeE
No=281

H-E
No=282

)



> #xX' =+ 2 =+ 2 = S by HAE2019 — 11 — 16
> ¢ :=0:forx from 2 to 20 do for y from 1 to300 do for z from y to 300 do if x* =y2 +7
then ¢ := ¢ + 1 : print( [x[o ]4=y[o ]z—l—z[o o ]2][H-E[N0=c]]) fi:od:od:od:
[ =7 +247 ]

HE
No=1
215 420 ],
No=
[10* =287 +96° ]H'EN 3
e
[10* =60> +80> ]H_EN 4
e
[13* =65 +156° ],
No=5
[13* =119 +120° [
No=6
[15% =63° +216° [
No=17
[15% =135% +180> ]H.E
No=28
[17* =136 +255° [
No=9

4 2 2
[177 =161 +240° ]H,E
| No=10

> ¢ :=0:forx from 2 to 20 do for y from I to 100 do for z from y to 100 do ifx4=y3 +7

thenc := ¢ + 1 : print( [x[, ]4 =y[o ]3 +z[o o ]3][H-E[N0 =c]]) fi:od:od:od:
[2* =20 +2

i
No=1

(98 =97 +18 ],
No=2

4 3 3
_ 16 =32 452 ],
[> ¢:=0: forx from 2 to 20 do for y from 1 to 100 do for z from y to 100 do for w from z
to100do ifx'=y* +2* +w’thenc = c + 1 : print([x[o *=y[o ' +z[o o |
+w[o o o TJ[H+E[No=c]]) fi:od:od:od:od:

[0 =1F 2 4

0y

)

(&)



[> # [U/E% 30N 7 X FMN=0,1,2,,,,,,9 by H.E:
>

> for N from 0 to 9 do for h from 1 to 1000 do if floor( evalf (Pi-10", 100) ) - floor (evalf ( Pi
:10" "1 100) ) -10 =N then H := h :break if:od: print(3.. . . (N)

= evalf (floor(evalf (Pi-10™ 100))-10"" H+ 1)) :od:
3., . . (0)=23.14159265358979323846264338327950

3., .. (1)=31
3., o o (2)=3.141592
3., . . (3)=3141592653
3. .. (4)=314
3., . . (5)=31415
3., . . (6)=3.1415926
3.. . o (7)=3.1415926535897
3.. o o (8)=3.14159265358
3., . . (9)=3.14159 (1)







